RE R Rt sk 2000 %%

F4H

JIC 37°- SAE J514

JIC 37°
K A% B R LT “s
=N | (&) Jdcsrr a2 O LM LF EE L4 EEL [ARESL

5
I U_D 3/8" 9/16-18 10 22 47.5 65 95.5 14 4V13X5X3 4V53X5X3
: L 1/2" 9/16-18 10 30 50.5 71 99.5 14 4V14X5X3 4V54X5X3

LM 3/4-16 12 27 53.5 74 105.5 17 4V14X5X4  4V54X5X4
T
JIC 37°-[BE SAE J514
JIC37°
/ A5 iz LT #®e
N (&) Jdcsr a2 O LM LF EE L4 [EEL PR
3/8" 9/16-18 10 22 67 84.5 1345 33.5 4V13T5X3 4V53T5X3
1/2" 9/16-18 10 27 69.6 90.2 138 33 4V14T5X3 4V54T5X3
3/4-16 12 27 741 94.6 146.7 37.6 4V14T5X4 4V54T5X4
7/8-14 16 27 77.5 98 153.5 41 4V14T5X5 4V54T5X5
#Ef524°- DIN 2353
T g BEINZ LT "=

= 2 o< (#F) %5 d2 oN A O Lm LF mEiE L4 mEL BEEs

} BFAHE
Ls L 8 6 M14x15 22 435 61 875 10 4V13D6X2 4V53D6X2
O~ m . L 10 8 M16x15 22 445 62 895 11 4V13D6X3 4V53D6X3
+ 3/8 S 10 7 M18x15 22 455 63 915 12 4V13D7X3 4V53D7X3
S 12 8 M20x15 22 455 63 915 12 4V13D7X4 4V53D7X4
L 8 6 M14x15 27 465 67 915 10 4V14D6X2 4V54D6X2
L 10 8 M16x15 27 475 68 935 11 4V14D6X3 4V54D6X3
L 12 10 M18x15 27 475 68 935 11 4V14D6X4 4V54D6X4
L 15 12 M22x15 27 475 68 935 12 4V14D6X5 4V54D6X5
. L 18 15 M26x15 30 50.5 71 995 12 4V14D6X6 4V54D6X6
2 S 10 7 M18x15 27 485 69 96.5 12 4V14D7X3 4V54D7X3
S 14 10 M22x15 30 525 73 103.5 14 4V14D7X5 4V54D7X5
S 16 12 M24x15 27 505 71 995 14 4V14D7X6 4V54D7X6

[ e ]

1/2" 13.25 8 M20x15 27 485 69 955 12 4V14K7X2 4V54K7X2
16.75 12 M24x15 27 485 69 955 12 4V14K7X3 4V54K7X3

FEPES TR RN S AL "V 5O VR IR R AR . ViSRS, 414V54GAX4; O: BRI, W14054G4X4, FEIot It
e, % B71MB72 11,

RAAEERNRERPERYIH A E AT REI .
Pz ROSE al fie B I 58 e AR TG Im A

B-77

£

i

>
)



